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An embankment of five 0°1150 and a partition of five, etc.

OVERVIEW

X70M 27 taught that Awnn 73X Awnn 7T17°3 do not combine. "W explains 773 to
mean a ditch. M501N maintains that a ditch and a partition (above the ditch) are
Avxn. Our MdOIN offers an explanation according to s""w1 understanding of 7173,
and also offers an alternate explanation of 7T17°).

— VNN AYINN YMDXPM NYNN PINY NIN 71PN DX DIVIPA Y9
>"w9 explained (that Awnn 73X a1 Awnn 7% means) if there was a ditch which

was five 2’1o deep and it was surrounded on top with a partition five onov high,
the rule is that the 7773 and the 7%°m7 -
— PN MY INN MY 12990819 PPN

Do not combine to make the enclosure a 5'';19 (even though the bottom of the ditch is
surrounded by an enclosure which is ten 0°190 high [five of the ditch and five of the 7% nn]).

nvoIn asks:
— (3,08 97 1°2Y9¥T NN PI93) (x,0x 97 PIND P92 NAVA INRT DN 1%39Y NYP)

And the n'"1 has a difficulty with >"w7°5 for the X7n) states in naw noon in P=p

9177 and in the last P9 of 92195y noon -
— DRIYa N1 NN NTY 29 HY GN) *1IUYY 1999081 1NN NaT

That a pit and its surrounding mound combine to make the inside of the pit a
"7 if the combined height of the 19 m 72 is ten o°19v, and even though the

791 is in the height and the pit is in the depth, nevertheless it is A1v¥». The same
should be here that the 717° and the 71%¥°ri7 should be q7v¥H.

mooIn has an additional question:
— 110 NHYNRY T MAIKN SNV 33X ROTNA (3,58 97 ow) TN DI P9 9INRT NI

And furthermore the X7mx explicitly states in nmas %2 pap, regarding two

courtyards one higher than the other -
— Znwnn nYnm AYnn M1 ¥

Where there is an embankment of five 0°115v and a partition of five o°nov -

! 1111 "1 made this statement in the two aforementioned N1,
* The level of the lower 7xr is five 2mov below the level of the upper 731 (the embankment is five °now). In
addition there is a partition five o’nov high which begins on the ground of the higher 7%r. The height from the floor
of the lower 7% to the top of the partition is ten o°rov.
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— 4N XYY D9IYW NAIPNT NAUY 239 ARIT PIRIN NNNNNA KTON 29 NNINT
That n''1 agrees regarding the lower 2xn, since it ‘sees’ a ‘face’ of a wall which

is ten 2’1oV high that it requires two (separate) M7°Xn *2117°Y but not one 17y
m7°xn together with the upper Ten.t

nID0IN answers:”
— SNDM 99X I NIPNRY 1T MALN 73 PIYST MY Y

And one can say that 11"7 is discussing here regarding two n13n which are

112 TownY, and when he says 1570 X he is referring -
— (3,0% oYY TN 93 P99 NINTS 21958 1ayy "nanhy 23

To the upper 221 regarding an 217 as is evident in ns ®2 pas.

nooIn offers an alternate solution:
— AYNN NYNN 122 Yy PP “mwnn 71 0°3290 MY YN Payd 1) N

Or you may also say; "1 is discussing (not a ditch and a partition,'® but rather) a
mound in the 2" which is high five 2’150 and he surrounded it on top with a

mxomn of five 0°rdY, and n"A teaches us -
— Mnay 1ayy YN MY 2UN KT

That this enclosed area is not considered a °'"'79 concerning naw.

mMooIn asks on this interpretation of M73:
— YNRNYNI N9 NIN ¥ INT DYV NN MY AWUN IR ON)

And if you will say; and let it be considered a "7 for the reason that if he so

3 The lower 137 cannot join with the higher 7%¥r and be included in one n11°¢n *21% for both, since there is a 7% of
ten 0°19Y separating them; rather it needs to make a separate m7°xn °217°y for the NNnANT 2xn only. However the
higher %1 cannot make an M7°Xn 217’y at all even by themselves since they are not completely separate from the
lower xn for they only see a ¥ 1 of five o oy (but the lower 7%17 is separated from them).
*1t is evident from that X»3 that (even) X701 27 agrees that 1970%1 7 7% 71 1 7°A!
> This answer follows s*"wA explanation that T17° means a ditch (however this is not s*"w9 explanation).
6 x70m 21 is not discussing whether it is a >"77 (as *"w states), for it certainly is a *"77. Rather he is discussing an
27V issue.
7 However regarding the lower 787 or a \n»1mM M3, etc. the 7 T3 are WYY 1HIVEA.
¥ In a case of ' 7¥>mm 71 173, the upper ¥ cannot make an 217y at all since the 7¥°mn which it sees is only five
omdv (and the T7°) is not AvXM since they do not ‘see’ it), they are not separated from the lower 1%¥n to be
considered an independent 1¥n1 with its own 217°y. They cannot combine with the lower 1xr, since the lower 7%77 is
separated from them with the 7173 and the 7%°1n.
? According to this interpretation the word 777°3 means a mound and not a ditch as *"wA explained.
19 According to this interpretation, a ditch and a partition would be 77wy> 77v¥» in disagreement with >"wA.
"' The top of the mound is not considered a >"77 because it is merely five 2°mov high and is enclosed by a mxnn
which is only five o°nov high. However if the mound would have been ten o°150 high then the top of the mound
would be a >"771 (if it is 2’19V 7"¥7) even without the partition. See following footnote # 12.
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desires he may place something on top of the Mx°>r» and he will utilize this area on
top of the mx>mn -
— 171553 1999 IR 233 (vny ow) PIN DI VINTS

As the X3 states in 1Wr P9 regarding the case where he filled up the entire
area with pegs.

ND0IN answers:

13; 98 9372 XOX 219 11999 MIN TPY N9T 1290 2N 29907 MY U
And one can say; that here we are discussing a case where the area atop the
partitions is very wide (therefore we cannot use the concept of 1%y mn *¥a °KX7
wnnwnl), for the concept of placing something atop the partitions is applicable
only for a narrow area, but not for a wide area.

SUMMARY

A ditch and a partition are 770X¥n (except regarding the upper xr, which is not
considered separate from the lower 7%m). A mound and a partition are not 707
(unless it is a small area and a cover can be placed over the width of the partition.

THINKING IT OVER

1. Moo asks'® that a mound five o°nov and a partition of five o°mov should be
A7wxn since he can place something atop the 7¥nn (as we find by the beam).
However in the case of m7n° the *"777 is formed atop the beam (and the cover); here
however we wish to make the top of the ?n (which is below the potential cover)
into a *"77. How can we compare the two?!"

2. Why indeed does "7 maintain that 77 7%°11 "7 717°) are not 77vXH (according to
maon)?'e

"2 The top of a pillar which is ten 0'nov high and has an area of four 2°nov by four onou is considered a *"77. The
X n3 there discusses what if he placed a peg on the top (thus diminishing the utilization of the 7"v7 area). WX 29
maintains that even if the entire area is filled with pegs (where seemingly one cannot use this area), nevertheless it is
considered a *"7M, because he can place something (a board) on the pegs and still use the area atop the pillar.
Similarly here, he can place an object over the 1% nn and there will now be the equivalent of a pillar ten 2°19v high
(the five of the mound and the five of the 17¥°1), which is considered a >"i17. See ‘Thinking it over’ # 1.
13 Therefore in the case of the beam, where it was (merely) 7"¥7, one can say wanwn 17Y nan, but not if the mx nn
are far apart and he would need to erect a roof.
' See footnote # 12.
" See mw mx >,
'® See X"wm.
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